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Roll No. Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY 8$SC-I

SECTION — A (Mrks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be compieted in the first 20 minutes smd handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use iead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)

(viii)

(ix)

(i}

(xil)

Some Carbon compounds such as CO,, CO, Carbonates and Hydrocgen Carbonates are studied in

branch of Chemistry cailed:
A Organic Chemistry 8. Inorganic Chemistry
C. . Industrial Chemistry D. Biochemistry

A compound with chemical formula Na,CX, has formula mass 106amu . What is the atomic mass of
the element X 7 [Atomic Masses. C=12, Na=23]

A 106 B. 23 C. 12 D. 16
M shell has subshelis:
A [s2s B. 252p C. 3s3p3d D. 15253s

Which of the following radioactive isotopes is used to trace the flow of blood and detect possible

constrictions and obstructions in the circulatory system?

A 1-131 B. Na - 24 C. Co-60 D c-14
In which group are halogens elements present?
A A B. IMA C. VIIA D. VI A

In the formation of A/F, . how many electron(s) are lost by an Aluminium atom?

A 1 B. 2 C. 3 D. 4
A liquid boils when its vapour pressure becomes equal to:
A 760cmllg B. 1Pa C. 101.325kPa  D. 0.latm

Acetone melts at —94°C and boils at 56°C . What is the physical state of acetone at 25°Cand latm ?
A Gas B. Liquid C. Sclid D. Cannot be predicted

A solution of NaOH has a concentration of 4g /dm’ . What is the mass of NaOH contained in

250cm’ of this solution.
A 40g B. 20g C. lg D. 2g

How many atoms are there in 0.1 moles of Carbon?

A 6.022x10® B 6.022x10* C. 6.022x10* D. 6.022x10%

Oxidation state of Hydrogen in metal hydride is:

A +1 B. -1 C. +2 D. -2
Which of the following ions, Chlorine cannot oxidize?
A lodide B. Fluoride C. Bromide D. Astatine

For Examiner’s use only:

Marks Obtained:

Total Marks: 12
]
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(iii)

(iv)

(v)

(vi)

(vii)

(viil)
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CHEMISTRY SSC- I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:
Q.3

SECTION — B (Maris 33)

Answer any ELEVEN parts. The answer to each part sheuld not exceed 3 to 4 lines. (11 x3=33)

()

{xii)

(xiif)

L

Determine the molecular masses of the following using given information:
[Atomic Masses: C=12, H=1, O=16]

a) Glucose C H,,0; which is also known as blood sugar.

b) Naphthalene C,I{; which is used in mothbails.

Differentiate ion and free radical.

Briefly explain isotopes of Chlorine. Draw a diagram.

Write electronic configuration of the following elements:

a) Si b) S Mg ©) o Ar

For normal elements, the number of electrons in valance shell of an element is equal to the group
number. Find the group numbers of the following elements:

a) S Al b) 28 c) YK

Explain the trends in the value of ionization energies in periodic table.

Represent the formation of cations for the following metal atoms using electron dot structure:
a) K (atomic no. 19) b) Al (atomic no. 13)

Express the pressure 400mmHg in kPa.

A sample of Neon gas, that is used in Neon sign tube, has a volume of 1500cm’ at a pressure of 636

torr. The volume of the gas after it is pumped into the glass tube of the sign is 121 3.74cm’ , when it

shows a pressure of 786 torr. Show this data obays Boyle’s law.
Write any three ways to express percentage of solution. Give one example each.
What is the molarity of a solution prepared by disselving 1.25g of HC/ gas into enough water to make

30cm’ of solution. [Atomic Masses: H=1, CI=35.5)
Write any three uses of electralytic cells.
Identify oxidizing agents and reducing agents in the following reactions.

a)  2FeCl,+Cl,—»2FeCl,
by Mg +2HCI---— MgCI, + H,

In a group, reactivity of metals with Oxygen, increases down the group. Explain with an example.
Draw electron cross and electron dot structure for:

a) Co, b) HCN
SECTION - C (Mage 20)
Attempt any TWO questions. All questions carry squal marks, (2 x 10 = 20)
Describe the Rutherford's experiment to know the arrangement of electrons and protons in atoms.
Also write the conclusions drawn by him. {3+3)
Calculate the number of atoms in: (2+2)
(i) 3.4 moles of Nitrogen atoms.

(i) S5g of H atoms

Recognize the following compounds as having ionic bonds. (2+2)
(i MgCl, (i) Nal

Define the following: (2+2+2)
(i) Compressibility and density of gases

{ii) Boiling point and distillation of liquids
{iii) Melting point and Sublimation of solids

Explain the manufacturing of Sodium Hydroxide from Brine in Nelson's Cell. (06)
Explain why is CH,OH soluble in water but C;Hy is not? (04)
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